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QUESTION 1

Which of the following measures the performance overhead in an ISL between two switches?
A. Bandwidth

B. Latency

C. Multipathing

D. Hop

Correct Answer: B

QUESTION 2

Which of the following terms describes multiple devices connected to the same switch port within a SAN?
A. Thin provisioning

B. Worldwide port name

C. Worldwide node name

D. Oversubscription

Correct Answer: D

QUESTION 3

If the nslookup command is not available on the host, which of the following is the BEST command to resolve fully
qualified domain name to IP address of a remote host?

A. ping

B. ifconfig
C. vmstat
D. iostat

Correct Answer: A

QUESTION 4
Which of the following would MOST easily prevent zoning conflicts and fabric segmentation?

A. Ensure zoning information from a new storage switch is cleared before adding it to the fabric.
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B. Only configure zoning once at installation; reconfigure all switches if zoning must change.
C. Create separate fabrics as zoning can only be configured on one switch.
D. Configure zoning information on the HBA\\'s not the storage switches.

Correct Answer: A

QUESTION 5

A server administrator loses access to several LUNs. When the storage administrator views the array and notices
several drives have failed. Reviewing the array logs shows that the drives faulted over several weeks. Which of the
following should have been implemented to prevent the current situation? (Select TWO).

A. Trending

B. Call home

C. Forecasting

D. Setting thresholds

E. Array alerts

Correct Answer: BE
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